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NEW QUESTION 1
Which node enables Cisco ISE to share contextual information on a device with Cisco Stealth watch?

A. Monitoring and Troubleshooting
B. pXGrid Controller
C. Policy Administration Node
D. Inline Posture Node

Answer: B

NEW QUESTION 2
Which two Cisco ISE use cases typically involve the highest level of implementation complexity? (Choose two.)

A. Guest and wireless access
B. Software defined access
C. Device management
D. Asset visibility
E. Software defined segmentation

Answer: BE

NEW QUESTION 3
Which two activities should occur during an SE's demo process? (Choose two.)

A. determining whether the customer would like to drive deeper during a follow up
B. asking the customer to provide network drawings or white board the environment for you
C. identifying which capabilities require demonstration
D. leveraging a company such as Complete Communications to build a financial case.
E. highlighting opportunities that although not currently within scope would result in lower operational costs and complexity

Answer: CE

NEW QUESTION 4
Which option will help build your customers platform during the discovery phase?

A. business case
B. detailed design
C. POV report
D. high-level design
E. PO

Answer: A

NEW QUESTION 5
Which protocol runs between the vSmart controllers and between the vSmart controllers and the vEdge routers, and unifies all control plane functions under a
single: protocol umbrella1?

A. BGP
B. OSPF
C. IKE
D. VRRP

Answer: D

NEW QUESTION 6
Which two statements are true regarding Cisco ISE? (Choose two.)

A. The major business outcomes of ISE are enhanced user experience and secure VLAN segmentation
B. ISE plays critical role in SD Access
C. Without integration with any other product, ISE can track the actual physical location of a wireless endpoint as it moves
D. ISE am provide data about when a specific device connected to the network
E. An ISE deployment requires only a Cisco ISE network access control appliance

Answer: BD

NEW QUESTION 7
Which are two Cisco ISE that benefits our customers ? (Choose two.)

A. provides network access controller
B. helps them stop and contain real time threats
C. enables them to set traffic priorities across the network
D. helps them accelerate application deployment and delivery

Answer: AB
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NEW QUESTION 8
Which Cisco vEdge route offers 20 Gb of encrypted throughput?

A. Cisco vEdge 5000
B. Cisco vEdge 1000
C. Cisco vEdge 2000
D. Cisco vEdge 100

Answer: A

NEW QUESTION 9
Which are the three focus areas for reinventing the WAN? (Choose three.)

A. Centralized device authentication
B. Secure Elastic Connectivity
C. Application Quality of Experience
D. Operations
E. Cloud Fast
F. Execution

Answer: BCE

NEW QUESTION 10
Which two statements are true regarding Cisco ISE? (Choose two.)

A. In distributed deployments, failover from primary to secondary Policy Administration Nodes happens automatically.
B. The number of logs that ISE can retain is determined by your disk space
C. ISE supports IPv6 downloadable ACLs
D. ISE can detected endpoints whose addresses have been translated via NAT.
E. ISE supports up to 100 Policy Services Nodes
F. In two-node standalone ISE deployments failover must be done manually

Answer: AB

NEW QUESTION 10
Which two statements regarding Cisco SD WAN vEdge routers can mitigate DoS attacks against the infrastructure? (Choose two)

A. Open Certificate Authority and automated enrollment feature
B. By default, all incoming traffic is denied art the transport (WAN) side interfaces,
C. Only authorized controllers are allowed to communicate back to the vEdge router after the vEdge router establishes connections with the controllers
D. In case of direct Internet access, the only traffic allowed back is the traffic matching the state table entries on the vEdge router.
E. The vEdge routers run on hardened Linux operating systems

Answer: CE

NEW QUESTION 11
......
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